[ LEARN

Grade 5 Addition and Subtraction
Name: Date:

Subtraction Word Problems Worksheet

Instructions: Read each problem carefully and solve for the missing number. Show
your work for each problem.

Question 1.

The city library had 5,432 books. After a donation drive, they received 1,289 more
books. How many books did they have after the donation?

Calculation: - =

Answer:
Question 2.

A stadium has 8,654 seats. After an event, 2,347 seats were damaged. How many
seats are still usable?

Calculation: - =

Answer:
Question 3.

A school ordered 4,200 pencils. If 1,156 pencils were used in the first month, how
many pencils are left?

Calculation: - =

Answer:
Question 4.

In a community project, 3,685 trees were planted in the first year. If they planted
1,479 fewer trees in the second year, how many trees were planted in the second
ﬂ%
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Calculation: - =

Answer:
Question 5.

During a book fair, 2,500 books were sold on the first day. If the total number of
books at the fair was 6,789, how many books are left after the first day?

Calculation: - =

Answer:
Question 6.

A concert venue has 9,000 tickets available for a show. If 3,567 tickets were sold,
how many tickets are still available?

Calculation: - =

Answer:
Question 7.

A charity received 7,345 donations this year. If they received 2,134 fewer
donations than last year, how many donations did they receive last year?

Calculation: - =

Answer:
Question 8.

A video game store had 4,800 games in stock. If they sold 1,752 games during a
sale, how many games do they have left?

Calculation: - =

Answer:
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Answer Key

Question 1 Calculation: 5,432 -1,289=4,143 Answer: 4,143
Question 2. Calculation: 8,654 - 2,347 = 6,307 Answer: 6,307
Question 3 Calculation: 4,200 - 1,156 = 3,044 Answer: 3,044

Question 4. Calculation: 3,685 -1,479=2,206 Answer: 2,206
Question 5. Calculation: 6,789 - 2,500 = 4,289 Answer: 4,289
Question 6. Calculation: 9,000 - 3,567 = 5,433 Answer: 5,433
Question 7. Calculation: 7,345 + 2,134 =9,479 Answer: 9,479

Question 8. Calculation: 4,800 -1,752=3,048 Answer: 3,048
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